KIT

Sealed Air Control Kit - 800A0263 - Current

Defaults in up position.
Relay pre-wired in box.

&
@0
ITEM PARTNO PART DESCRIPTION QTY
1 13010084  VALVE-PRESSURE PROTECTION.......ccciiieitie ettt e ettt et eseeesnne e e e e e enneeennesenneas 1
2 13010504 REGULATOR-AIR PRESSURE ......ccutiiiiiectie ettt ettt et e e e e e asa e e e ne e e ennaasennesenneas 1
3 13010545 GAUGE-PRESSURE, AIR e 1
4 13010546  VALVE-QUICK RELEASE.........ooo ittt ettt e et e e e saeeeae e e enseeeanneeenneas 1
5 13010555  VALVE-SOLENOID, 4 WAY, T2V ....oi it et citeeeetee et e et e e sste e sseeessseaseseeesseaeasseasneeeensaesaneessnneas 1
6 13012127 ELBOW-90 DEG., 1/4 M-NPT e 1
7 13012128  ADAPTER-T/4 NPT ... ettt ettt e et e e e et e e ae e e e e esseeeseeeeaneeeasseeeseeeenseesseesennees 1
8 13022014  REDUCER, 1/8 F-NPT, 1/4 M-NPT ....oii ettt e e e e e sne e enna e nnn e e enneas 1
9 13022099 ELBOW, 90 STREET (1/4-NPT) 2
10 13022123  STREET TEE, 1/4 F-NPT 1/4 M-ANPT ...ttt ettt e e e e enneeesnn e eanees 1
11 13025049 CONNECTOR-MALE, 3/8 TB, 1/4 NPT ...ooiiieeeeee ettt et e e e e aeann e enneas 1
12 13025094 ELBOW-SWIV, 3/8 TB, 1/4 M-NPT
13 13029990 HEX SOCKET PLUG-1/8 M-NPT, STEEL ......eeeitiieiieeeeie ettt snn e 1
14 14011008  5/16 X 1 UNC HEX CAP SCR (GR 5) -.uttiiieieeieeieeie ettt st s e e seesnne s 4
15 144N0B16 10-32 X 2 ROUND HEAD MACH. SCREW ... 2
16 144P0B04  10-32 X 1/2 TRUSS HEAD MAGC. SCREW. ...ttt ettt snn e 1
17 14761000 5/16 UNC HEX CTR LOCK NUT (GR B) ...ueiriieiieierieeiee ettt 4
18 15000308 GROMMET-RUBBER, 3/8
19 15001233  BOX (16.13 X 12.38 X 10.50) ...ccueeueeeeerierieesieeseeeseessseessesseessseeseesseesessesssessessesnsesssesnsesnsesssens 1
20 15001318  PLATE-SWITCH, LIFT oottt ettt ettt e e s e e e e esa e e e e e e eaneeeasneaeaneeeenseaeannesnnneas 1
21 15050350 SWITCH-TOGGLE, HI STEER................ e 1
22 15051100 CONNECTOR-SLIDE, FEMALE, 14-16..... ... 0
23 15050352  RELAY ....oiiiieeceeeeeeeee e e 1
24 15050360 RELIEF-STRAIN, WIRE... e 1
25 15050361 NUT-RELIEF, STRAIN ..... |
26 15060042 10-32 KEP NUT ......... )
27 60002019  FITTING-INLET, AlIR.......ccceeuve.. e 1
28 80002130 BOX-AIR CONTROL, SEALED......... |
29 13034000 AIRLINE-NYLON, .375 0.D., BULK ....... B5FT
30 15051975  CABLE - ELECTRICAL, SUOOW 18/4 ...c.ueeeeeeieeeie et esteestesteeeeesaeesaesaesaeeaesaeeneenaaeeesneeens 25 FT

m 223 15TH ST. NE - SIOUX CENTER, IA 51250 + 1-800-222-6283 + WWW.LINKMFG.COM



